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1
Introduction
This document provides simplified analysis on E-UTRA UE ACS and BS ACLRs.

2
Discussion
Downlink ACIR contributed by 1st and 2nd ACLR of BS, as well as UE ACS, is given by the following equation [1]:
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To see the impact of ACLRs and ACS on the DL ACIR, tentative parameters in Table 1 are assumed. By substituting these figures for the above equation, the impact of those parameters on ACIR is derived as shown in Figure 1. It can be seen that in this scenario, UE ACS dominate the ACIR and the contribution from BS ACLR2 becomes smaller as its offset from the ACLR1 (XdB) .becomes larger.
Table 1: Assumed UE ACLRs and BS ACS
	Item
	Value

	US ACS (± 1st adjacent channel)
	30, 33 dB

	BS ACLR
	ACLR1

(± 1st adjacent channel)
	40dB, 45dB, 50 dB

	
	ACLR2

(± 2nd adjacent channel)
	35 - 55 dB (ACLR1 + XdB: X= -15~15)
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Fig. 1: DL ACIR contributed by UE ACS and and BS ACLRs
3
Conclusion
Contribution of BS 1st and 2nd ACLR as well as UE ACS to ACIR seen by an E-UTRA UE receiver is briefly analyzed. While the analysis gives only a static and simplified result, it would give a rough estimation of the effect and could be a basis of the future work in the group.
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